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BIERE FHA) RE(B) ZR(A)-(B) s

REBZINA 410, 832, 800 413,739, 063 -2, 906, 263
5| |EsEESHamA 1,550, 000 10,997, 112 -9, 447,112
£ f SERISERLSINA 21,010 70, 588 49,578
B | zofomA 961, 000 5,923, 648 -4, 962, 648
i’ BEERMINAG (1) 413,364, 810 430, 730, 411 17,365, 601
i [ 361, 734, 000 365,319,517 -3, 585, 517
3 | % |BgE=m 24,213, 000 23,583, 138 629, 862
IR | | EgsEm 34, 116, 000 42,038, 184 7,922,184
2| |mgEwzmst (2) 420, 063, 000 430, 940, 839 10,877,839
| [FREmEensEn (3) - (1) - (2) -6, 698,190 210, 428 ~6,487, 762
po f IBRARBIRAGT (4) 0 0 0
%% | EraEmEsm 3,910, 000 3,352, 884 557,116
‘; H | s s s at (5) 3,910, 000 3,352, 884 557,116
% | EREHSERINEER (6) = (4) - (5) ~3,910, 000 -3, 352, 884 557,116
o | [EEERERA 2,500, 000 5,711, 420 -3,211, 420
= | A |zoftoEs Azt (7) 2,500, 000 5,711, 420 -3,211, 420
o | % [mraEss 4,000, 000 4,059,323 59,323
2|t [ofoEs= et (8) 4,000, 000 4,059,323 59, 323
* zomoEnEsRzEE (9) = (7) - (8) ~1,500, 000 1,652, 097 -3, 152, 097
FhEgE=S (10) 3,948, 810 3,948, 810
LA SINE GRS (11) = (3) + (6) + (9) — (10) ~16, 057, 000 1,911, 215 14,145,785
BIERRSAERES (12) 14, 257, 000 118, 177, 265 103, 920, 265
LERSINESES (11) + (12) ~1, 800, 000 116, 266, 050 118, 066, 050




